JHIESSRL [ BESZ ] [ FOLFIRINOXE % |

[LPAY ]
FXHYYTSF(L-OHP) + £1) /FHh (CPT-11) + LAY F—R(I-LV) + 5-FU

Xt RIEHI

Ohr

AREUIBRAEEGEEE (PSO~1)
19—IL 218

]

W58 |dayi |aay1s
AXH1F5F2 (L-OHP) 85mg/m”
{1757 h (CPT-11) 180me/m! !} *
LAR7ARY F—k(I-Lv) 200mg/m’
5-FU 400mg/m?’ L} ! ]
5-FU 2400mg/m’ %t *
AXHUTSFY LR F—k
85mg/m”

200mg/ m?

XAKIRS |
2hr 4hr

I
24hr 50hr




[LEAV]

JHIEERH [ iR 1 [ GEM &% |
5 LS BE 2 (GEM)[day 1, 8, 15])

CIBRA e - B R B fAE R U R A BB P RRIEIEHI D 1st line

xR AEHI
19—I)L 438
E=3-1]
5 L BE Y (GEM)

R’E5E

1000mg/m?

Iday1

|davs  [day15 |day22]day2s




[LPAY ]
HIE28F [ BE#E ] TmFOLFIRINOX#R %

FXHYYTSF(L-OHP) + £1) /FHh (CPT-11) + LAY F—R(I-LV) + 5-FU

SRR ABUIRTEELERE (PSO~1)

Ohr

19—IL 2;E

HH BEg Iday1 Iday1 5
*¥4H1)TFS5F > (L-OHP) 85mg/m”
A1) 75 H (CPT-11) 150mg/m’ % *
LR F—R(I-LV) 200mg/m?
5-FU 2400mg/m? %t *
FXHUTSF> LR F—k
85mg/m? 200mg/m?
| EGEETN I
2hr 4dhr 24hr

50hr




[ LOAY ]

SHIE2RE [BEE]) T nab-PTX + GEM % |
7 75%Y> (nab-PTX) [day1,8,15) + 4 LI 4E > (GEM) [day1,8,15])

HRAEHF  AEUIRT e EE
15—)L 288

| BEE [dayt  Joavs  |dey1s  [dav2z  |day2e
77 5% (nab-PTX) 125mg/m”

5L BE Y (GEM) 1000mg/m?




[LPAY ]
JHIERR R [ BERERE ] [ NAC GS &% ]
TS-1(S-1)[day 1~day 14] + 4L AE(GEM)[day 1, 8]

HMREF MR REE
19—I)L 3B fE

| BRE=E day1 day8 day15 day?22
TS-1 AXRERICIELTES 14BRERROKRS  THREKRE
5L AE Y (GEM) 1000mg/m?

[TS-1#%5%X(1HE) ] 1H2[H #§-98B%

AERmEE 1S5 E
1.25m* ki 80 mg XTS-1R5EITER
1.25m2 Lt 15m?kis 100 mg (HREHNE>TEREEEELTUVEY)
15m2 Lk 120 mg




[LPAY ]
JHERs % [ R I T S-1+GEM 5% |
TS-1(S-1)[day 1~day 14] + 4L AE(GEM)[day 1, 8]

HMREF  UIBRT R BHRERE
19—I)L 3B fE

| BRE=E day1 day8 day15 day?22
TS-1 AXRERICIELTES 14BRERROKRS  THREKRE
5L AE Y (GEM) 1000mg/m?

[TS-1#%5%X(1HE) ] 1H2[H #§-98B%

AERmEE 1S5 E
1.25m* ki 60 mg XTS-1R5EITER
1.25m2LlE 1.5m*kiE 80 mg (HREFF>THREELTBELTLET
15m2 Lk 100 mg




[LPAY ]
EIERE [ BE )T A=/S1F+5-FU/I-LVE% |
=/ /LF + LRRYF—K(I-LV) + 5-FU
5 WAL EERICBE LA RS
MIDGHE - MR MERICE T2 RVLLEIEHEIL TN
19—)L 23 e
B3] BE5=E day1
A=Ak 70mg/m?
HUGTIAI B FZE%E
BT 5154 :50mg/m
L) F—k(-LV) 200mg/m?
5-FU 2400mg/m?
F=NAK LRy F+—k 5-FU
70mg/m? 200mg/m” 2400mg/m?
I I I I |
Ohr 1.5hr 3.5hr 24hr 49 5hr




